PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
COTTON						
Lint - Non-irrigated		5,552.0	834.00	4,630,368	lbs.	\$2,407,791
Seed - Non-irrigated		5,552.0	1,334.00	7,406,368	lbs.	\$407,350
Cotton (Total)	*	5,552.0				\$2,815,142
FORESTRY						
Pulpwood						
Pine				63,391	cords	
Hardwood				18,388	cords	
Pulpwood (Total)				81,779		
Chip & Saw				799	cords	
Saw Timber						
Pine				13,541,282	board feet	
Hardwood				584,237	board feet	
Saw Timber (Total)				14,125,519		
Total Pulpwood, Chip & Saw	Ϊ,					\$12,408,700
Saw Timber FOB Mill						
Total Forestry Stumpage						\$6,528,205
Forestry (Total)						\$12,408,700
FRUITS						
Blueberries	*	20.0	2,100.00	42,000	lbs.	\$52,500
Figs	*	1.0	550.00	550	lbs.	\$660
Mayhaws						
Orchard	*	3.0	160.00	480	lbs.	\$600
Mayhaws (Total)		3.0				\$600
Peaches	*	12.0	175.00	2,100	bu.	\$63,000
Fruits (Total)		36.0		,		\$116,760
FEED GRAINS						,
Corn	7	3,438.0	125.00	429,750	bu	\$984,128

# Page 1 of 7

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
FEED GRAINS						
Grain Sorghum	*	92.0	42.00	3,864	cwt.	\$15,456
Oats	*	5.0	70.00	350	bu.	\$830
Feed Grains (Total)		3,535.0				\$1,000,413
HAY FOR SALE		,				
Grass	40	16,000.0	2.20	35,200	tons	\$1,760,000
Hay for Sale (Total)		16,000.0				\$1,760,000
HOME GARDENS	450	,				\$135,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$10,000
Plants						
Woody Ornamentals	*				acre	\$10,000
Foliage Plants	*				acre	\$10,000
Nursery Crops (Total)						\$30,000
PECANS						
Improved	7	70.0	500.00	35,000	lbs.	\$40,250
Native	15	300.0	300.00	90,000	lbs.	\$54,000
Pecans (Total)		370.0				\$94,250
RICE	*	375.0	60.00	22,500	cwt.	\$124,875
SOYBEANS	8	4,285.0	33.00	141,405	bu.	\$940,343
VEGETABLES		,				
Broccoli (Fresh)	*	0.1	300.00	37	cartons (20	\$555
					lbs.)	
Cabbage					,	
Fresh	*	0.1	500.00	62	sacks (50 lbs.)	\$434
Cabbage (Total)		0.1			· · · · ·	\$434
Cantaloupe	*	0.5	300.00	150	cartons (40 lbs.)	\$2,250

Page 2 of 7

	P	LANT ENT	<b>FERPRISES PROD</b>	UCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Carrots	*	0.1	400.00	50	doz. bunches	\$350
Cauliflower	*	0.1	340.00	42	cartons (20	\$630
Collards					lbs.)	
Fresh	*	2.0	450.00	900	doz. bunches	\$6,300
Collards (Total)		2.0	150.00	200	doz. buildings	\$6,300
Cucumber		2.0				\$0,500
Fresh	*	2.0	450.00	900	bu. (50 lbs.)	\$9,000
Cucumber (Total)		2.0				\$9,000
Eggplant	*	0.1	400.00	50	bu. (33 lbs.)	\$750
Garlic	*	0.1	5,000.00		lbs.	\$1,875
Irish Potatoes			,			
Fresh	*	7.0	200.00	1,400	cwt.	\$42,000
Irish Potatoes (Total)		7.0				\$42,000
Mustard (Fresh)	*	1.0	500.00	500	doz. bunches	\$3,500
Okra (Fresh)	*	3.0	340.00	1,020	bu.	\$20,400
Onions	*	1.0	200.00	200	bag (50 lbs.)	\$4,000
Green Onions	*	0.3	2,000.00	500	lbs.	\$750
Peppers						
Banana	*	0.1	700.00	87	bu. (25 lb.)	\$1,044
Bell	*	0.6	700.00	385	bu. (28 lb.)	\$5,775
Cayenne (Processing)	*	0.1	70.00	8	cwt.	\$200
Chili - Anaheim (Fresh)	*	0.1	420.00	52	bu. (25 lb.)	\$624
Hungarian Wax (Fresh)	*	0.1	420.00	52	bu. (25 lb.)	\$624
Jalapeno	*	0.1	420.00	52		\$780
Tabasco Green (Processing)	*	0.1	20.00		cwt.	\$118
Tabasco Red (Processing)	*	0.1	20.00	2	cwt.	\$140

Page 3 of 7

PLANT ENTERPRISES PRODUCTION						
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Peppers (Total)		1.6				\$9,305
Pumpkin (Fresh)	*	1.0	100.00	100	cwt.	\$2,000
Shallots	*	0.1	1,400.00	175	doz. bunches	\$875
Snap Beans (Fresh)	*	1.0	300.00	300	bu. (30 lbs.)	\$6,000
Southern Peas (Fresh)	*	40.0	95.00	3,800	bu. (24 lbs.)	\$76,000
Squash (Fresh)					``´´	
Yellow Squash	*	0.5	300.00	150	bu. (45 lbs.)	\$1,800
Zucchini Squash	*	0.5	300.00	150	bu. (45 lbs.)	\$1,500
Squash (Fresh) (Total)		1.0			``´´	\$3,300
Sweet Corn (Fresh)	*	60.0	1,100.00	66,000	doz. ears	\$198,000
Tomatoes (Field)	*	15.0	1,800.00	27,000	lugs (20 lbs.)	\$405,000
Tomatoes (Green Mature)	*	2.0	1,200.00	2,400	boxes (25 lbs.)	\$24,000
Turnips (Fresh)	*	2.0	550.00		doz. bunches	\$7,700
Watermelon	*	10.0	150.00	1,500	cwt.	\$9,000
Vegetables (Total)		151.2		,		\$833,974
WHEAT	6	2,934.0	35.00	102,690	bu.	\$330,662
TOTAL ALL PLANT ENTERP	RISES	<u> </u>		,		\$20,590,119

# FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE Crawfish (Farm) Aquaculture (Total) FRESHWATER FISHERIES	*	520 Acres in Prod.	278,000	lbs.	\$180,700 \$180,700
Crawfish (Wild)	*		3,000	lbs.	\$1,560

Page 4 of 7

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
FRESHWATER FISHERIES						
Catfish (Wild)	*			3,903	lbs.	\$1,823
Buffalo	*			11,552	lbs.	\$1,779
Gar	*			2,000	lbs	\$1,844
Other Finfish	*			1,000	lbs.	\$182
Freshwater Fisheries (Total)						\$7,188
FUR ANIMALS				42	pelts	\$223
HUNTING LEASES	14	16,000	No. Acres		acre	\$88,000
			Leased			
HONEY	9	60	No. Hives	6,360	lbs.	\$8,586
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRIS	SES				\$284,696

	ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
CATTLE & CALVES							
Steer Calves							
300-400 lbs.			1,350	head	\$490,550		
400-500 lbs.			1,200	head	\$501,606		
500-600 lbs.			1,200	head	\$551,364		
600-700 lbs.			850	head	\$442,000		
Steer Calves (Total)					\$1,985,520		
Heifer Calves							
300-400 lbs.			1,450	head	\$464,160		
400-500 lbs.			1,250	head	\$471,206		
500-600 lbs.			1,150	head	\$489,808		
600-700 lbs.			850	head	\$414,375		
					Page 5 of 7		

		AL ENTERPRISES	<u>s productio</u>			
Animal	Number of	Units of		Total	Units of	Gross Farm
	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Heifer Calves (Total)						\$1,839,549
Yearling Cattle				1 1 5 0		¢ = 00,000
600-700 lbs.				1,150		\$598,000
700-800 lbs.				800	head	\$450,000
Yearling Cattle (Total)						\$1,048,000
Cow-Calf Pairs				2,500	•	\$1,800,000
Cull Cows				1,700		\$561,383
Cull Bulls				400	head	\$292,200
Cattle & Calves (Total)	100	14,000	No. Cows			\$7,526,651
DAIRY						
Dairy Goats	*	4	Total Adult	2,000	Pounds	\$440
			Does			
Dairy (Total)						\$440
HORSES						
Brood Mares						
Race Horses	*	80	No. Brood Mares	60	head	\$360,000
Show Horses	8	40	No. Brood Mares	30	head	\$90,000
Recreation Horses	50	200	No. Brood Mares	150	head	\$225,000
Brood Mares (Total)						\$675,000
Stud Fees						
Race Horses		10	No. Stallions	600	mares bred	\$1,500,000
Show Horses		8	No. Stallions	150	mares bred	\$225,000
Recreation Horses		8	No. Stallions	150	mares bred	\$15,000
Stud Fees (Total)						\$1,740,000
Race Horses	*			40	head	\$400,000
Show Horses	20			80	head	\$320,000
Recreation Horses	70			200	head	\$200,000

Page 6 of 7

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Horses (Total)					\$3,335,000
QUAIL	*	200 No. Breed Stock	500	each	\$1,000
SHEEP					
Wool		40 No. Sheared	240	cwt.	\$38
Slaughter Lambs			4	head	\$393
Feeder Lambs			5	head	\$323
Show Lambs			6	head	\$1,650
Stocker Sheep			8	head	\$380
Cull Sheep			10	head	\$350
Sheep (Total)	*	15 No.Breeding Ewes			\$3,133
GOATS					
Show Goats			8	head	\$1,200
Slaughter Goats			150	head	\$12,750
Stocker Goats			100	head	\$6,500
Cull Goats			30	head	\$1,260
Goats (Total)	14	220 No. Does			\$21,710
TOTAL ALL ANIMAL	ENTERPRISES				\$10,887,934
<b>RED RIVER PARISI</b>	H TOTAL				\$31,762,749